
Lecture 22 - Intro to kinetics
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Now we can return to the dynamics
can define a progressionist

C=SA= A - Aeg =
- SB

IAtB=N=AqtBq
so A- Aeq= Beg-D= -SB



daff = d
= KB#B-KASBA

d&==d¥§= ka→BA - ks -AB

⇒ 2¥f=2[ krs-n-B-ka.rs A]

⇒ d¥ = ftp.al-Bq-is-ka-BCAegtd]
use = -(kB→AtkA→B) C
d.b.

⇒ C. (f)= ¢(o) e-
(↳→atKa-b)t

or Erin = k¥ntka→B
But what about fluctuations?



Onsager regression hypothesis ( Gsi)
Small microscopic fluctuations at equilibrium

decay an average the same as macro
deviations decay
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And Oher is the micro dynamics of
the reaction on the surface
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Quel going forward

Transition Shire theory


